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DRDO SET 2008 - General Ability Question Paper
Section - B

Consider the list of words: ebquelle, asccomodate, FPoriy, exageerate, continous,
in(ll.'_:rn':nn:lu:nr. recicpl.
The number of maisspelt words in the list is

(A) 1 (B) 2 ey a3 (DY 4

Consider the following sentences:

Bentence |: A few friends he has are all very rich.

Sentence 2 Do not insult the weak,

Sentence 3:; The later of the two persons was more interesting.
Sentence 4 All the informalions wens Correct.

Ot of these sentences, the grammatically correct sentence is

(A} Sentence 1 (1) Sentence 2 ) Sentence 3 (¥ Sentence 4

The appropriate auxiliary verb to fill in the blank of the sentence “Gandhi knew

thot he soon be joiled.” ic

—

(A would (B)  will (C) ghall (D) Ay

The number of missing punctuation marks in  the sentence “REajesh along with
Amit went to the market.” is

(A) O (B} 1 ) 2 (D) 3
The meaning of the word PLAGIARISM is

(A)  theft of public money B}  theft of ideas

(C)  belief in one god (¥ Beliel in many gods

The antonym of the word TRANSIENT is
(A)  certain (B} close [ permancnt (¥ fasi

ACROPHORIA 15 the abnormal Tear of

(A} open space (B} height (Cy  fire (D water
The appropriate pair of prepositions to fill in  the blanks in the sentence “He was
angry _ me, because my remarks were aimed  him.” is

(A} at to (B} with, at (C)  with, to (I3 an, for

'_n"ﬂ appropriate wordi{s) 1o fill up the blank in the sentence “1 remember _ voices
in the middle of the night.” is (arc)

(A} hear (B} to hear () hearing (I heard

The passive voice form of the sentence T have known him for a long time.” is

(A) He is known to me for a long time
(B} He iz known by me for a long time
(C)  He has been known (o me for a long time
(D) He has been known by me for a long time
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stoadog, then ___ istoa hen.
mnnp {C)  hole (D)  stable.

TON is ta 523675, then NOTION is 10
b ":h. |

(B) 3563765 (C) 5TB3T7S (D} 557365

numbers of the series 3, 5, 11, 21 are

(B) 34 and 53 (). 35and52 59 35 and 53

are three places in India with longitudes S0°E, B5°E and 90°E

:if:_i."?hif:h one of the following statements about the local times of the

time of B is ahead of that of C
ime of A is ahead of that of ©
d O all have the same local time

Lion, notations -4, = and = are used as follows

=ans A is the husband of B;

5 A is the sister of B;

ans A is the son of B.

e relations, the relationship denoted by P+ Q=R is

LHI is written as EDHIL, then PARIS is written as

{B) SARIP (C) SAPIR ~«D) APISE
i;l:k_:- ; ¥}
:.-| prime numbers hetween 10 and 50 s
1"““ " ] 1L (3", 12 (D) 13

L

e ";jh':-.- list: LAN, TCP/IP, HACKER nnd_mL.EE g hes
g, — j’ By e A - 4 - : i . |
. (B) TCP/IP w€) KILLER T

¥ E
o i
- b

Orkut community Link :
http://www.orkut.co.in/Main#Community.aspx?cmm=87239458



Orkut community Link :
http://www.orkut.co.in/Main#Community.aspx?cmm=87239458

. The first three pictures in a sequence are given below,

16

The next figure in the sequence is

B '
64 256 e

(A) (B) () —E)

121. The firzst three pictures in a sequence are given below,

&

The next picture in the sequence is

¥yY¥7¥

CAY (B)
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e in the sequence is ;
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ext picture in the sequence is

) glg O o

O
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Eﬂﬂ AI}) and Figure (IT} is similar o ﬂiﬂfm
F E'-ll'ﬁ ﬂ“i"] below.
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5
(RN = © 2 1

Rk : : : i
o ﬂ:.m_:ﬂunnn of the differential equation %;+ 3;;2":..4.5}- =0 satisfying

-

=3 —25+£ and E=2§—E,th=valua-::f [;;KE]A is
2 e (C) )

| trajectory of the family of curves x° —y° =& (where e is a
N551 Eth‘l‘l:ll.'l._gh the pﬂiﬂt {]., 1:' i%

@ y= ©) A o

= linc integral [3? dx+2xy dy over the curve x=acost,

41
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sim
n f# ma&] 5
feosd
(B) L sing
feos@
. w@'—s-m[ﬁns
.Eﬂ.duﬁncdm A
¥ : 3x—1, x<0
: flxy=40, x=0

Ti 2x+5, x>0

-:-tn'&lf_:-.-.' List I shows four expressions for

it
5%
}
v
1)

alues of the limits.

1k L

sin &
L — o

—&in
o)

limits of f(x) and List 11

List 1 List IT
| e L’ﬁ_!;l}f(.t} 1. -1
Iirﬂ Sx) 2, 0
Ii 3. =10
- e é;l:f (x)
S, lim f(x) |4 5

probability 0.5 and 0.7,
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that neither A nor B happens is

respectively, have joint
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of July, it is winter in
i3 (B} Beijing (') Sydney () London
of the Planning Commission of India is

' (B)  The Vice President
Finance Minister ([}  The Union Commerce Minister

vehicle that placed a number of satellites into orbit in Lﬁ;;-; -:

(B) PSLV-CE (L8]

) _l'iuu .
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